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  ����ات ���� �����  1 6��7+
     

�6دده� و �Xل ���/%� و Z�) � �3د ���Oات هY_ ا����� ا���)�� . و ا�O��ج ��6 �ء7,/�ز =�ء أ��دي ا���ن ا���
5
 آ! �+ ا����3+) ا0/.�ره�.  

�X         :0λل ا����� ���Jgع 5
 ا��8اغ:                    �����ت = 480,0 nm  

�W ا90N#�ر ����ء ���          )e (ج��Oو ا�)v:(v en =1,51 / n =1,33    

8:                    �3 � ا0/.�ر ا���ء 5
 ا��8اغ -1c =3.10  m.s  
  
  
  

  ���د ا���ء  2 6��7+
     

 Z�) ��  ba6 �J�J ��  `��  !Qm�ا�.9! ا� !U�7 
�+ m[J 2ا�.9! ا�/��  `=� 100 µm `��  !3أر                      
    .ا���ن=�ء أ��دي              
   .أذآ� ا�3 ا��pه�ة  ا�/
 ��7زه� ا�.9! -1
  .�Zد �Xل ا����� ����ء ا��#/��! -2
3- i3/���ل 80; ا�/�آ��):  

�� ه�  �ض ا����a ا���آ�7O ا����Qm (�ا��3 =�ء -3.1  
�X أ��دي ا���ن أزرق                    `/���λل  = 450 nm؟  

               3.2- !9.� �7Oا���آ ��aا�� �%p�  آ�h �97ن 
                    ا���mد 5
 ���� =�ء أ(�z؟ 

  
  
  

  ���د ا���ء ��ا��� ����ر  3 6��7+

  
���Jر �+ ا�O��ج زاو7/`  
oA �� أ�Z و�% =60�qر ��(�= ��O� !3�0  �7ت أ��د� ��Jإ ��W� +��a �9/6ن 

 
�%6 5
 ا��8اغ ه����1:                           ا���ن أ�Xال 
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λ = 435,9 nm

λ =546,1 nm

λ =646 nm

   

   .oi=56و ذ�� (Oاو�7 ورود 
��Zد -1 K3ر و�J��ي �97ن ا�Yج ا���Oد ا���ء.ا�Z�6 د و ��ه�ةZ��ا� K3ف ا���               .  
5
 ا�%�اء؟ �� ه� ا��Zaار -2 `/���5
 ا����Jر �X +  h�/{7ل  +��� ا�Yي a�7� ه! �Xل ا����� [��Jع 

  ��(/� ؟
�#�را3D�%6 و2D و 1Dأ�#��q i زوا�7 ا�m0Nاف  -3 !U� ��  .  

   O�� 90#�رNت اW���� 
1:                        ��ج (���#�� �%Y_ ا[��J �ت��0
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n =1,668

n =1,654

n =1,640
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